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o (MHz) (X107 V) (mA Typ.) (mm) Al
5.0x3.2X0.8, LVPECL, CML
MO9002 1to 220 425, £50 +48 to +75 7.0%5.0% 1.0 (QFN) VDS, HESL
+1.71 to +1.89, 2.5%2.0X0.8
+2.25t0 +3.63 +3.2 to +4.1 32%25%0.8,
pleseos 1t 110 £50, £100 (+0.4 to +4.3 pA stby) 5.0X3.2X0.8,
7.0%X5.0%x 1.0 (QFN) LVCMOS
2.0%1.6%0.8
+1.62 to +1.98, 5.0t0 6.5 '
MO9005 Tto 141 £20, £25. %50 | 17)55t0+3.63 | (0.4t0 4.3 kA stby) 3 zi"rz’ézx'ggo(g’m)
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=] s Min. Typ. Max. EAfiL M
HNERSEE f 1 - 141 MHz
+1.62 +1.8 +1.98
+2.25 +2.5 +2.75
+2.52 +2.8 +3.08
JRERE vdd Vv
R +2.7 +3.0 +3.3
+2.97 +3.3 +3.63
+2.25 - +3.63
—-20 - +70 Extended Commercial
BITmES T C
s -Use —-40 - +85 Industrial
—20 - +20
HETR/N _ _ -6 |BE +25CHRNVIRMERE, KEBK (1 F. +250), BEHE,
Lz F_tol 25 25 | X107 e me S EA R S
-50 - +50
- +5.6 +6.5 No load condition, f = 40 MHz, Vdd = +2.5V to +3.3V
J i Idd A
B - +5.0 +5.5 m No load condition, f = 40 MHz, Vdd = +1.8V
- +2.1 +4.3 ST = GND, Vdd = +2.5V to +3.3V, Output is weakly pulled down
TR I_std LA = ~utp y P
- +0.4 +1.5 ST = GND, Vdd = +1.8V, Output is weakly pulled down
+0.125 to £2.060 =T
AHIZEE - %
RIS —4.28to —0.25 T EmTrE
a=H DC 45 - 55 %

low = -4 MA (Vdd = +3.0V or +3.3V)
0 EEIE Vo 90% - - Vdd  |lon = - 3 mA (Vdd = +2.8V and Vdd = +2.5V)
low = -2 MA (Vdd = +1.8V)

lo. = +4 mA (Vdd = +3.0V or +3.3V)
1 EBYEE Von - - 10% Vdd |l =+3 mA (Vdd = +2.8V and Vdd = +2.5V)
loo =+2 mA (Vdd = +1.8V)

Vdd = +2.5V, +2.8V, +3.0V or +3.3V, 20% to 80%, default

N ! 2 derive strength
LFHIIEL RHERE Tr. Tf - 13 25 NS |\Vdd =+1.8V, 20% to 80%, default derive strength

- - 2.0 Vdd = +2.25V to +3.63V, 20% to 80%, default derive strength
OE ¥ 0 EEFRAEBE Vi - - Vddx0.3 \Y Pin 1, OE or ST
OF imF 1 BFHABE Viy Vdd x0.7 - - V Pin 1, OE or ST

. _ +5.0 +6.5 f =40 MHz, Vdd = +2.5V to +3.3V, OE = GND, Output in high-Z

OF i PR I_oe mA |state

- +4.6 +5.2 f =40 MHz, Vdd = +1.8V, OE = GND, Output in high-Z state
gﬁ%ﬁégg:g T oe - - 180 ns f = 40 MHz - For other frequencies, T_oe = 100ns + 3 period

B 1000pcs./reel(¢ 180)






